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1. ^pk: pUnz dh papy fdj.ksa* dkO;iafDr esa iz;qDr 
vyadkj dk lgh fodYi Nk¡fV, & 
(A) ;ed 
(B) vuqizkl 
(C) ‘ys”k 
(D) :id 

 7. ^?kqeDdM+ ‘kkL=* ds jpukdkj gSa & 
(A) jkgqy lkaÑR;k;u 
(B) gfj’kadj ijlkbZ  
(C) gtkjh izlkn f}osnh 
(D) izsepan 

2. ‘kq) okD; dk p;u dhft, & 
(A) eSa vusd fo}kuksa ls feyk gw¡A 
(B) eSa dbZ fo}ku tuksa ls feyk gw¡A 
(C) eSa cgqr lkjs fo}kuksa ls feyk gw¡A 
(D) eSa vusdksa fo}kuksa ls feyk gw¡A  

 8. ;g foLe; cks/kd fpºu gS & 
(A) ‘ , ’ 
(B) “ – ”  
(C) :–  
(D) ! 

3. ^?k̀.kk* fdl jl dk LFkk;h Hkko gS \ 
(A) Hk;kud jl 
(B) d#.k jl 
(C) chHkRl jl 
(D) ‘kkUr jl 

 9. fuEukafdr fodYiksa esa ls orZuh dh nf̀”V ls ‘kq) 
¼rRle½ ‘kCn pqfu, & 
(A) flaxkj 
(B) Jàxkj 
(C) Jhaxkj 
(D) Jaxkj 

4. fgUnh Hkk”kk dh fyfi gS & 
(A) jkseu 
(B) Qkjlh 
(C) xq#eq[kh 
(D) nsoukxjh 

 10. ^p* oxZ /ofu;k¡ fdl oxZ esa vkrh gSa \ 
(A) d.B~; 
(B) nUR; 
(C) rkyO; 
(D) vks”B~; 

5. vka/kh vkus ij os ,d ?kj esa Nqi x;s & 
(A) la;qDr okD; 
 (B) lk/kkj.k okD; 
(C) feJ okD; 
(D) dksbZ ugha 

 11. fuEukafdr esa ls fdl esa folxZ lfU/k ugha gS \ 
(A) fn³~e.My 
(B) fu’py 
(C) /kuq”Vadkj 
(D) fuLlUnsg 

6. vèr dk i;kZ;okph ugha gS & 
(A) lq/kk 
(B) ‘kL; 
(C) lkse 
(D) ih;w”k 

 12. fgUnh esa la;qDr Loj gS & 
(A) vk 
(B) bZ 
(C) Å 
(D) vkS 

13. The most rigorous test of liquidity is – 
(A) Current ratio 
(B) Quick ratio 
(C) Absolute liquid ratio 
(D) All of the above 

 13. rjyrk dh lcls dM+h tk¡p gksrh gS & 
(A) pkyw vuqikr 
(B) rjy vuqikr 
(C) iw.kZ rjyrk vuqikr 
(D) mi;qZä lHkh 

14. A brief explanation of the transaction is called – 
(A) Summarising 
(B) Particular 
(C) Narration 
(D) Information 

 14. ysu&nsu dh laf{kIr O;k[;k dks dgrs gSa & 
(A) laf{kIrhdj.k 
(B) fooj.k 
(C) Li”Vhdj.k 
(D) lwpuk 

15. Stock turnover ratio is – 
(A) Liquidity ratio 
(B) Profitability ratio 
(C) Solvency ratio 
(D) Activity ratio 

 15. LdU/k vkoZr vuqikr gS & 
(A) rjyrk vuqikr 
(B) ykHknk;drk vuqikr 
(C) ‘kks/ku lerk vuqikr 
(D) fØ;k’khyrk vuqikr 
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16. Which of the following is not the technique of 
capital structure analysis ? 
(A) Trading on equity  
(B) Capital gearing 
(C) Capital budgeting 
(D) Cast of capital 

 16. fuEu esa ls dkSu lh iw¡th lajpuk fo’ys”k.k dh 
rduhd ugha gS \ 
(A) lerk ij O;kikj 
(B) iw¡th nfUrdj.k 
(C) iw¡thxr ctVu 
(D) iw¡th dh ykxr 

17. Receipts and Payment account is a – 
(A) Personal account 
(B) Real account 
(C) Nominal account 
(D) None of these 

 17. izkfIr vkSj Hkqxrku [kkrk gS & 
(A) O;fDrxr [kkrk 
(B) okLrfod [kkrk 
(C) ukeek= [kkrk 
(D) buesa ls dksbZ ugha 

18. Job costing is used in – 
(A) Textile mill 
(B) Paper mill 
(C) Chemical mill 
(D) Printing press 

 18. midk;Z ykxr i)fr iz;ksx dh tkrh gS & 
(A) diM+k fey esa 
(B) isij fey esa 
(C) jlk;u dkj[kkus esa 
(D) fizfUVax izsl esa 

19. The scope of which is wider – 
(A) Internal control 
(B) Internal checking 
(C) Internal audit 
(D) None of the above 

 19. fdldk {ks= O;kid gksrk gS & 
(A) vkUrfjd fu;a=.k 
(B) vkUrfjd fujh{k.k 
(C) vkUrfjd vads{k.k 
(D) mijksä esa ls dksbZ ugha 

20. Index cost of acquisition is related to – 
(A) Long term capital gain 
(B) Short term capital gain 
(C) Income from Business 
(D) Income from other sources 

 20. vfHkxzg.k dk ykxr LQhfr lwpdkad lEcfU/kr gS & 
(A) nh?kZ dkyhu iw¡th ykHk ls 
(B) vYidkyhu iw¡th ykHk ls 
(C) O;olk; dh vk; ls 
(D) vU; lk/kuksa dh vk; ls 

21. Cost of depreciation fund is the – 
(A) Explicit cost 
(B) Opportunity cost 
(C) Average cost 
(D) Equity cost 

 21. gzkl dks”kksa dh ykxr gksrh gS & 
(A) Li”V ykxr 
(B) volj ykxr 
(C) vkSlr ykxr 
(D) lerk ykxr 

22. Trading Account is a – 
(A) Personal account 
(B) Real account 
(C) Nominal account 
(D) None of the above 

 22. O;kikj [kkrk gS & 
(A) O;fDrxr [kkrk 
(B) okLrfod [kkrk 
(C) ukeek= [kkrk 
(D) mijksä esa ls dksbZ ugha 

23. Under annuity method the amount of 
depreciation is – 
(A) Fixed for all years 
(B) Increasing every year 
(C) Decreasing every year 
(D) Fluctuating from year to year 

 23. okf"kZdh fof/k ds vUrxZr gzkl dh jkf’k & 
(A) lHkh o”kksZ a esa leku jgrh gS 
(B) izfr o”kZ c<+rh gS 
(C) izfr o”kZ de gksrh gS 
(D) o”kZ nj o”kZ ifjofrZr gksrh gS 

24. If the shares are forfeited, the share capital 
account is debited by – 
(A) Face value of shares 
(B) Paid up value of share 
(C) Called up value of share 
(D) Issue price of share 

 24. ;fn va’kksa dk gj.k fd;k x;k rks va’k iw¡th [kkrk uke 
fd;k tk;sxk & 
(A) va’kksa ds vafdr ewY; ls 
(B) pqdrk va’k ewY; ls 
(C) ;kfpr va’k ewY; ls 
(D) va’k fuxZfer ewY; ls 
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25. Which of these accounts show debit balance ? 
(A) Machinery account 
(B) Sales account 
(C) Capital account 
(D) All of the above 

 25. fuEu [kkrksa esa ls dkSu uke ‘ks”k fn[kkrk gS \ 
(A) e’khujh [kkrk 
(B) foØ; [kkrk 
(C) iw¡th [kkrk 
(D) mijksä lHkh 

26. Which of the following is non-current asset ? 
(A) Stock 
(B) Good will 
(C) Prepaid rent 
(D) Accounts receivable 

 26. fuEu esa ls dkSu lh xSj&pkyw lEifŸk gS \ 
(A) LdU/k 
(B) [;kfr 
(C) iwoZnŸk fdjk;k 
(D) nsunkj 

27. Copyright is an example of – 
(A) Tangible assets 
(B) Intangible assets 
(C) Wasting assets 
(D) Fictitious assets 

 27. dkWihjkbV ,d mnkgj.k gS & 
(A) ewrZ lEifŸk dk 
(B) vewrZ lEifŸk dk 
(C) vi{k; lEifŸk dk 
(D) dkYifud lEifŸk dk 

28. On dissolution of a firm, an amount realised 
from the unrecorded asset is credited to – 
(A) Revaluation account 
(B) Realisation account 
(C) Cash account 
(D) Capital accounts 

 28. ,d QeZ ds lekiu ij u fy[kh lEifŸk ls olwyh xbZ 
jkf’k dks ØsfMV djsaxs & 
(A) iqueZwY;kadu [kkrs dks 
(B) olwyh [kkrs dks 
(C) jksdM+ [kkrs dks 
(D) iw¡th [kkrksa dks 

29. A decrease in the provision for bad and 
doubtful debts results in – 
(A) Increase in net profit 
(B) Increase in equity 
(C) Decrease in net profit 
(D) Both A and B 

 29. Mwcr ,oa lafnX/k _.kksa esa deh ds ifj.kke Lo:i & 
(A) ‘kq) ykHk c<+sxk 
(B) lerk esa of̀) gksxh 
(C) ‘kq) ykHk ?kVsxk 
(D) nksuksa A ,oa B 

30. Which of the following concept shows 
difference between amount of receipt and 
right to receive an amount ? 
(A) Matching concept  
(B) Going concern concept 
(C) Accrual concept 
(D) Realisation concept 

 30. fuEu esa ls dkSu lh vo/kkj.kk izkfIr dh jkf’k o izkfIr 
ds vf/kdkj ds e/; varj djrh gS \ 
(A) feyku vo/kkj.kk 
(B) pkyw O;olk; dh vo/kkj.kk 
(C) miktZu vo/kkj.kk 
(D) olwyh dh vo/kkj.kk 

31. Sacrificing ratio is calculated in the case of – 
(A) Retirement of a partner 
(B) Death of a partner 
(C) Insolvency of partner 
(D) Admission of a partner 

 31. R;kx vuqikr dh x.kuk dh tkrh gS & 
(A) lk>snkj ds vodk’k xzg.k ij 
(B) lk>snkj dh èR;q ij 
(C) lk>snkj ds fnokfy;k gksus ij 
(D) lk>snkj ds izos’k ij 

32. Only Personal and Real Accounts are shown in – 
(A) Balance sheet 
(B) Trading account 
(C) Profit and Loss account 
(D) Trial balance 

 32. dsoy O;fDrxr vkSj okLrfod [kkrs fn[kk;s tkrs gSa & 
(A) vkfFkZd fpës esa 
(B) O;kikj [kkrs esa 
(C) ykHk gkfu [kkrs esa 
(D) ryiV esa 

33. If the net profit earned during the year ` 80,000 
and debtors have increased during the year by        
` 15,000, the cash from operation will be – 
(A) ` 80,000 
(B) ` 65,000 
(C) ` 95,000 
(D) ` 40,000 

 33. ;fn fdlh o”kZ ds nkSjku vftZr ykHk  ̀80]000 gS o nsunkjksa 
esa òf) ` 15]000 gqbZ gS] rks ifjpkyu ls jksdM+ gksxk & 
(A) ` 80,000 
(B) ` 65,000 
(C) ` 95,000 
(D) ` 40,000 
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34. A and B are partners sharing profits in the 
ratio of 2 : 3. They admit C for ¼th share in 
business. The sacrificing ratio of A and B is – 
(A) 3 : 1 
(B) 1 : 4 
(C) 2 : 3 
(D) 1 : 1 

 34. A vkSj B ,d QeZ esa 2 % 3 vuqikr esa ykHk ck¡Vus esa 
lk>hnkj gSaA mUgksaus O;olk; esa ¼ Hkkx ds fy, C dks 
izos’k fn;kA A vkSj B dk R;kx vuqikr gksxk & 
(A) 3 : 1 
(B) 1 : 4 
(C) 2 : 3 
(D) 1 : 1 

35. A person deposits LIC premium of ` 10,000. 
He can claim – 
(A) Deduction U/S 80C 
(B) Exemption U/S 10 
(C) Both A and B 
(D) None of the above 

 35. ,d O;fDr ` 10]000 dk ,y0vkbZ0lh0 izhfe;e tek 
djkrk gSA og nkok dj ldrk gS & 
(A) /kkjk 80 C ds vUrxZr dVkSrh 
(B) /kkjk 10 ds vUrxZr NwV 
(C) A ,oa B nksuksa 
(D) mijksDr esa ls dksbZ ugha 

36. Accounting Standards Board of India was 
established in which year ? 
(A) 1970 
(B) 1972 
(C) 1973 
(D) 1977 

 36. Hkkjrh; ys[kkadu ekud ifj”kn dh LFkkiuk fdl o”kZ 
esa gqbZ \ 
(A) 1970 
(B) 1972 
(C) 1973 
(D) 1977 

37. Preparation of Final Accounts falls in – 
(A) Book keeping 
(B) Accounting 
(C) Auditing 
(D) None of the above 

 37. vfUre [kkrs cukuk vkrk gS & 
(A) iqLrikyu esa 
(B) ys[kkadu esa 
(C) vads{k.k esa 
(D) mijksä esa ls dksbZ ugha 

38. Which of the following does not come under 
the purview of book-keeping ? 
(A) Financial transactions 
(B) Recording 
(C) Posting 
(D) Analysis and interpretation  

 38. fuEu esa ls dkSu iqLrikyu ds vUrxZr ugha vkrs \ 
(A) foŸkh; lkSns 
(B) vfHkys[ku 
(C) [krkSuh 
(D) fo’ys”k.k ,oa O;k[;k 

39. While deciding about the divisible profit 
which of the following facts must be 
considered ? 
(A) Current depreciation 
(B) Arrear of depreciation 
(C) Capital profits 
(D) All of the above 

 39. lkekU; foHkkT; ykHk dk fu/kkZj.k djrs le; fuEu esa 
ls fdl rF; dks /;ku esa j[kuk vko’;d gS \ 
(A) pkyw gzkl 
(B) vof’k”V gzkl 
(C) iw¡thxr ykHk 
(D) mi;qZä lHkh 

40. Destruction of vouchers by auditor is – 
(A) Civil liability 
(B) Criminal liability  
(C) Other liability  
(D) None of the above 

 40. vads{kd }kjk izek.kdksa dk u”V djuk gS & 
(A) nhokuh nkf;Ro 
(B) vkijkf/kd nkf;Ro 
(C) vU; nkf;Ro 
(D) mijksä esa ls dksbZ ugha 

41. LAN stands for – 
(A) Large Area Network 
(B) Local Area Network 
(C) Long Accurate Network 
(D) Lay Access Network 

 41. ysu (LAN) ls vfHkizk; gS & 
(A) yktZ ,fj;k usVodZ 
(B) yksdy ,fj;k usVodZ 
(C) ykWUx ,sD;wjsV usVodZ 
(D) ys ,Dlsl usVodZ  
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42. If the opening capital is ` 1,20,000, drawings  
` 10,000, additional capital ` 20,000, closing 
capital ` 1,80,000, the profit earned during 
the year will be – 
(A) ` 50,000 
(B) ` 52,000 
(C) ` 40,000 
(D) ` 60,000 

 42. ;fn vkjfEHkd iw¡th ` 1]20]000] vkgj.k ` 10]000] l= 
dh vfrfjDr iw¡th ` 20]000] vafre iw¡th  ` 1]80]000 
gS] rks o”kZ ds nkSjku dek;k x;k ykHk gksxk & 
(A) ` 50,000 
(B) ` 52,000 
(C) ` 40,000 
(D) ` 60,000 

43. When current ratio is 4.5 : 1 and Acid test 
ratio is 3 : 1 of inventory is  ` 12,000. What is 
the amount of current liabilities ? 
(A) ` 5,000 
(B) ` 6,000 
(C) ` 7,000 
(D) ` 8,000 

 43. tc pkyw vuqikr 4-5 % 1 rFkk vEy ij[k vuqikr   
3 % 1 gSA ;fn LVkWd ` 12]000 gks rks pkyw nkf;Roksa 
dh jkf’k D;k gksxh \ 
(A) ` 5,000 
(B) ` 6,000 
(C) ` 7,000 
(D) ` 8,000 

44. Bad debts recovered during the year will be – 
(A) Capital expenditure 
(B) Revenue expenditure  
(C) Capital receipt 
(D) Revenue receipt  

 44. o"kZ ds nkSjku olwy fd;k x;k v’kks/; _.k gksxk & 
(A) iw¡thxr O;; 
(B) vk;xr O;; 
(C) iw¡thxr izkfIr 
(D) vk;xr izkfIr 

45. Which method of costing would you 
recommend for a drug manufacturing 
company ?  
(A) Unit costing  
(B) Contract costing 
(C) Batch costing 
(D) Operating costing  

 45. ,d vkS”kf/k fuekZ.k dEiuh esa vki fdl ykxr 
ys[kkadu fof/k dh flQkfj’k djsxsa \ 
(A) bdkbZ ykxr 
(B) Bsdk ykxr 
(C) lewg ykxr 
(D) ifjpkyu ykxr 

46. ‘VED’ analysis method is used when – 
(A) Machines are used 
(B) Materials are used 
(C) Labourers are used 
(D) None of the above 

 46. ‘VED’ fo'ys”k.k fof/k iz;qDr gksrh gS] tc & 
(A) e’khuksa dk iz;ksx gksrk gS  
(B) lkexzh dk iz;ksx gksrk gS 
(C) Jfedksa dk iz;ksx gksrk gS 
(D) mijksä esa ls dksbZ ugha 

47. In fund flam analysis, increase in working 
capital is – 
(A) A source of funds 
(B) An application of funds 
(C) Both source and application of funds 
(D) None of these 

 47. dks"k izokg fo’ys”k.k esa dk;Z’khy iw¡th esa of̀) gS & 
(A) dks”k dk ,d lk/ku 
(B) dks”k dk ,d iz;ksx 
(C) dks”k dk lk/ku ,oa iz;ksx nksuksa 
(D) buesa ls dksbZ ugha 

48. Excess of credit side over the debit side in 
Revaluation Account is – 
(A) Profit 
(B) Loss 
(C) Debt 
(D) Expenses 

 48. iquZewY;kadu [kkrk esa uke i{k ij tek i{k dk vf/kD; 
gS & 
(A) ykHk 
(B) gkfu 
(C) _.k 
(D) O;; 

49. A Company has liabilities of ` 38,000 and 
owner’s equity of  ` 1,14,000, then assets of 
the company are – 
(A) ` 76,000 
(B) ` 1,52,000 
(C) ` 1,14,000 
(D) ` 38,000 

 49. ,d dEiuh ds nkf;Ro ` 38]000 gS vkSj Lokeh dh 
lerk ` 1]14]000 gS] rc dEiuh dh lEifŸk;k¡ gSa & 
(A) ` 76,000 
(B) ` 1,52,000 
(C) ` 1,14,000 
(D) ` 38,000 
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50. The payment of a liability will – 
(A) Increase both assets and liabilities  
(B) Increase assets and decrease liabilities 
(C) Decrease assets and increase liabilities 
(D) Decrease assets and decrease liabilities  

 50. ,d nkf;Ro ds Hkqxrku ls & 
(A) lEifŸk;ksa ,oa nkf;Roksa nksuksa esa of̀) gksxh 
(B) lEifŸk;ksa esa of̀) ,oa nkf;Roksa esa deh gksxh 
(C) lEifŸk;ksa esa deh ,oa nkf;Roksa esa of̀) gksxh 
(D) lEifŸk;ksa esa deh ,oa nkf;Roksa esa deh gksxh 

51. Return inwards will be shown as a deduction 
from – 
(A) Sales 
(B) Purchases 
(C) Returns outwards 
(D) None of the above 

 51. vkUrfjd okilh ?kVkdj fn[kk;h tkrh gS & 
(A) foØ; ls 
(B) Ø; ls 
(C) okº; okilh ls 
(D) mijksä esa ls dksbZ ugha 

52. Cash receipt and cash payments are recorded 
in – 
(A) Cash Book 
(B) Purchase Book 
(C) Sales Book 
(D) Journal  

 52. udn izkfIr;ksa ,oa udn Hkqxrkuksa dks fjdkMZ fd;k 
tkrk gS & 
(A) jksdM+ cgh esa 
(B) Ø; cgh esa 
(C) foØ; cgha esa 
(D) jkstukeps esa 

53. Which of the following National Park is not 
situated in Uttarakhand ? 
(A) Corbett 
(B) Nanda Devi 
(C) Rajaji 
(D) Kanha Kisley  

 53. fuEu esa ls dkSu lk jk”Vªh; m|ku mŸkjk[k.M esa ugha gS\ 
(A) dkcsZV 
(B) uUnk nsoh 
(C) jktkth 
(D) dkUgk fdlyh 

54. Lal Bahadur Shastri National Academy of 
Administration is situated – 
(A) Dehradun 
(B) Mussoorie  
(C) Haridwar 
(D) None of the above 

 54. yky cgknqj ‘kkL=h jk”Vªh; iz’kklfud vdkneh fLFkr gS& 
(A) nsgjknwu 
(B) elwjh 
(C) gfj}kj 
(D) buesa ls dksbZ ugha 

55. Which is the folk dance of Uttarakhand ? 
(A) Jhoda 
(B) Jhumailo 
(C) Laman 
(D) All of the above 

 55. mŸkjk[k.M dk yksd ùR; dkSu lk gS \ 
(A) >ksM+k 
(B) >qeSyks 
(C) yke.k 
(D) mi;qZä lHkh 

56. Who is the first woman writer to pen ‘Nanda 
Ke Jagars’ ? 
(A) Basanti Bisht 
(B) Prof. Manjula Jugran 
(C) Dr. Kusum Rani Naithani 
(D) Radha Maindoli 

 56. ^uUnk dh tkxj* fy[kus okyh izFke efgyk ysf[kdk dkSu gSa\ 
(A) clUrh fc”V 
(B) izks0 eatqyk tqxjku 
(C) MkW0 dqlqe jkuh uSFkkuh 
(D) jk/kk esuMksyh 

57. Country : President  : :  State : ? 
(A) Minister 
(B) Governor 
(C) M.P. 
(D) Enactory  

 57. ns'k % jk”Vªifr  % %  jkT; % \ 
(A) ea=h 
(B) jkT;iky 
(C) lkaln 
(D) fo/kk;d 

58. _______ is an electronic device that receives 
a signal and retransmits it at a higher level 
and/or higher power. 
(A) Repeater 
(B) Modem 
(C) Router 
(D) Switch 

 58. _______ ,d bysDVªkWfud fMokbl gS tks fdlh flXuy 
dks izkIr dj mls mPp Lrj vkSj@vFkok mPp ‘kfDr ds 
flXuyksa esa iquZlapkfjr djrh gS & 
(A) fjihVj 
(B) ekWMe 
(C) jkmVj 
(D) fLop 
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59. A switching technique that sets up end-to-end 
communication path between the source and 
the destination is – 
(A) Message switching  
(B) Packet switching 
(C) Circuit switching  
(D) Both B and C 

 59. ,d fLofpax rduhd] tks lzksr ,oa xarO; ds e/; ,d 
Nksj ls nwljs Nksj rd laizs”k.k iFk LFkkfir djrh gS & 
(A) eSlst fLofpax 
(B) iSdsV fLofpax 
(C) lfdZV fLofpax 
(D) B rFkk C nksuksa 

60. Red Data Book gives information about 
species which are – 
(A) Extinct  
(B) Endangered 
(C) Dangerous 
(D) Rare 

 60. jsM MkVk cqd mu tkfr;ksa ds ckjs esa tkudkjh nsrh gSa] tks& 
(A) yqIr gSa 
(B) ladVkiUu gSa 
(C) [krjukd gSa 
(D) fojyh gSa 

61. The combining of multiple signal into a form 
that can be transmitted over a single link of a 
communication medium is called – 
(A) Multicasting 
(B) Broadcasting 
(C) Unicasting 
(D) Multiplexing  

 61. lEizs”k.k ek/;e ls ,d fyad }kjk ,d QkWeZ esa dbZ 
ladsrksa dk la;kstu gS & 
(A) eYVhdkfLVax 
(B) czkWMdkfLVax 
(C) ;wuhdkfLVax 
(D) eYVhIySflax 

62. ______ is a person or group of person who 
have centralized control of the database. 
(A) Network Administrator  
(B) Database Administrator 
(C) Both A and B 
(D) None of the above 

 62. ______ ,d O;fDr ;k O;fDr;ksa dk lewg gS tks MkVkcsl 
ds daVªksy dks dsUnzh;Ñr djrk gSA 
(A) usVodZ ,MfefuLVªsVj 
(B) MkVkcsl ,MfefuLVªsVj 
(C) A o B nksuksa 
(D) mijksä esa ls dksbZ ugha 

63. There are five boys on a ladder. E is further 
up than C but lower than D. B is between E 
and C, D is between A and E. The boy at the 
top is – 
(A) D 
(B) E 
(C) A 
(D) B 

 63. ,d lh<+h esa ik¡p yM+ds gSaA E, C ls Åij gS ysfdu D ls 
uhps gSA B, E vkSj C ds chp esa gSA D, A vkSj E ds 
chp esa gSA lcls Åij dkSu lk yM+dk gS \ 
(A) D 
(B) E 
(C) A 
(D) B 

64. In RDBMS, DDL stands for – 
(A) Data Design Language 
(B) Data Definition Link 
(C) Data Design Link 
(D) Data Definition Language 

 64. RDBMS esa DDL gS & 
(A) MkVk fMtk;u ySaXost 
(B) MkVk MSfQus’ku fyad 
(C) MkVk fMtk;u fyad 
(D) MkVk MSfQus’ku ySaXost 

65. What is ‘Hansuli’ ? 
(A) Jewellery  
(B) Folk song 
(C) Dance 
(D) Caste 

 65. ^galqyh* D;k gS \ 
(A) tsoj 
(B) yksdxhr 
(C) ùR; 
(D) tkfr 

66. Choose out the odd one ? 
(A) Telescope 
(B) Periscope  
(C) Bioscope 
(D) Microphone 

 66. fo"ke dks pqfu, \ 
(A) nwjn’khZ 
(B) ifjn’khZ 
(C) pyfp= n’khZ 
(D) vuqHkk”k 

67. The famous utensil Theki used for preparing 
curd in Uttarakhand is made up of ? 
(A) Aluminium 
(B) Steel 
(C) Wood 
(D) Iron 

 67. mŸkjk[k.M {ks= esa ngh tekus ds fy, iz;qDr gksus okyh 
Bsdh fdlls cuh gksrh gS \ 
(A) ,Y;wehfu;e 
(B) LVhy 
(C) ydM+h 
(D) yksgk 
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68. Who was the first Indian woman climbed to 
Mount Everest ?  
(A) Harsha Rawat 
(B) Dr. Harshwanti Bisht 
(C) Bachhendri Pal 
(D) Lata Bisht 

 68. ekmUV ,ojsLV ij p<+us okyh igyh Hkkjrh; efgyk 
dkSu Fkh \ 
(A) g”kkZ jkor 
(B) MkW0 g”kZoUrh fc”V 
(C) cNsUnzh iky 
(D) yrk fc”V 

69. The three words out of the following four 
words are almost same in nature and they 
farm a group. Which one of the following 
does not belong to that group ? 
(A) Wood 
(B) Furniture 
(C) Stone 
(D) Paper 

 69. fuEufyf[kr pkj esa ls rhu fdlh u fdlh izdkj ls 
leku gSa vkSj ,d viuk vyx lewg dk fuekZ.k djrs gSaA 
buesa ls dkSu lk ,d ,slk gS] tks vU; rhu ls fHkUu gS \ 
(A) ydM+h 
(B) QuhZpj 
(C) iRFkj 
(D) dkxt 

70. The region of Uttarakhand fall under seismic 
zone – 
(A) Zone IV 
(B) Zone V 
(C) Zone IV and V 
(D) Zone III 

 70. HkwdEih; ǹf”Vdks.k ls mŸkjk[k.M {ks= fdl tksu esa 
fLFkr gS \ 
(A) tksu IV 
(B) tksu V 
(C) tksu IV ,oa V 
(D) tksu III 

71. Where is situated Uttarakhand Ayurvedic 
University ? 
(A) Haridwar 
(B) Roorkee 
(C) Harrawala (Dehradun) 
(D) Rishikesh 

 71. ^mRrjk[k.M vk;qosZfnd fo’ofo|ky;* dgk¡ fLFkr gS \ 
(A) gfj}kj 
(B) :M+dh 
(C) gjkZokyk ¼nsgjknwu½ 
(D) _f”kds’k 

72. Find the odd one – 
(A) Flute 
(B) Sitar  
(C) Guitar 
(D) Violen  

 72. tks fHkUu gS mls Kkr djsa & 
(A) ckalqjh 
(B) flrkj 
(C) fxVkj 
(D) ok;ysu 

73. ‘Bhakar’ is used in rural Uttarakhand for – 
(A) Water Storage 
(B) Fruit Collection 
(C) Foodgrain Storage 
(D) Milk Storage 

 73. ^Hkdkj* dk iz;ksx xzkeh.k mRrjk[k.M esa fd;k tkrk gS & 
(A) ty laxzg.k  
(B) Qyksa dk ,d=hdj.k ds fy;s  
(C) [kk|kUuksa ds laxzg.k ds fy;s  
(D) nqX/k laxzg.k ds fy;s  

74. What is Kanchula Kharak in Uttarakhand ? 
(A) Breeding and Conservation Centre for 

Musk Deer   
(B) National Park 
(C) A Hill 
(D) A Dam 

 74. mRrjk[k.M esa dkWapqyk [kjd gS & 
(A) dLrwjh èx iztuu dsUnz o laj{k.k dsUnz 
(B) ,d jk”Vªh; m|ku  
(C) ,d igkM+h  
(D) ,d ckWa/k 

75. In 1988, Independence day was celebrated on 
Wednesday on which day was it celebrated in 
1989 ? 
(A) Tuesday 
(B) Wednesday 
(C) Friday 
(D) Thursday 

 75. 1988 esa Lora=rk fnol cq/kokj dks euk;k x;k Fkk] 
1989 esa ;g fdl fnu euk;k x;k Fkk \ 
(A) eaxyokj 
(B) cq/kokj  
(C) ‘kqdzokj 
(D)  cg̀Lifrokj 
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76. How many Seats are reserved for scheduled 
tribes in State Assembly ? 
(A) 3 
(B) 2 
(C) 4 
(D) None of the above 

 76. vuqlwfpr tutkfr ds fy;s jkT; fo/kkulHkk eas fdruh 
lhV vkjf{kr gSa \ 
(A) 3 
(B) 2 
(C) 4 
(D) buesa ls dksbZ ugha  

77. Which wild life Sanctuary is situated in 
Pithoragarh district ? 
(A) Sona River wild life Sanctuary 
(B) Govind wild life Sanctuary 
(C) Askot wild life Sanctuary 
(D) None of the above 

 77. fiFkkSjkx<+ ftys esa dkSu lk oU; tho vHk;kj.k fLFkr 
gS \ 
(A) lksuk unh oU; tho vHk;kj.k 
(B) xksfoUn oU; tho vHk;kj.k 
(C) vldksV oU; tho vHk;kj.k 
(D) buesa ls dksbZ ugha 

78. CAZ, DBY, ECX, FDW, ? 
(A) GEV 
(B) HEU 
(C) GEX 
(D) HEV 

 78. CAZ, DBY, ECX, FDW, ? 
(A) GEV 
(B) HEU 
(C) GEX 
(D) HEV 

79. Vinay walk 5 km south wards then he walk 3 
km turning to right Again he turned to his 
right & walks 5 km. He then turns to his left 
and walks 5 km. How far he is now from the 
starting point ? 
(A) 6 km 
(B) 8 km 
(C) 3 km 
(D) 5 km 

 79. fou; 5 fd-eh- nf{k.k fn’kk esa pyrk gS rc og nk;sa 
?kwedj 3 fd-eh- pyrk gS iqu% vius nka;h vksj eqM+dj 
5 fd-eh- pyrk gS rc og vius ck;sa ?kwedj 5 fdeh 
pyrk gS vc og ‘kq:okrh fcUnq ls fdruh nwjh ij gS \ 
(A) 6 fd-eh- 
(B) 8 fd-eh- 
(C) 3 fd-eh- 
(D) 5 fd-eh- 

80. In which district of Uttarakhand Tiladi forest 
movement was started ? 
(A) Pithoragarh 
(B) Chamoli 
(C) Uttarkashi 
(D) None of the above 

 80. mRrjk[k.M ds fdl tuin esa frykM+h ou vkUnksyu 
izkjEHk gqvk Fkk \ 
(A) fiFkkSjkx<+ 
(B) peksyh 
(C) mRrjdk’kh 
(D) buessa ls dksbZ ugha  

81. K is X’s brother, Z is X’s son. P who is K’s 
daughter is married to N. G and X are sister’s. 
How is G related to Z ? 
(A) Sister 
(B) Auntie 
(C) Mother 
(D) Mother in law  

 81. K HkkbZ gS X dk] Z iq= gS X dk] P tks K dh iq=h 
gS] N ls C;kgh gSA G rFkk X ijLij cgusa gSaA G dk 
Z ls D;k laca/k gS \ 
(A) cgu 
(B) ekSlh 
(C) ek¡ 
(D) lkl 

82. According to the census of 2011, the literacy 
rate of Uttarakhand – 
(A) 78.53 % 
(B) 79.63 % 
(C) 80.63 % 
(D) None of the above 

 82. 2011 dh tux.kuk ds vuqlkj mRrjk[k.M dh 
lk{kjrk nj & 
(A) 78.53 % 
(B) 79.63 % 
(C) 80.63 % 
(D)  buesa ls dksbZ ugha 

83. Engineer is related to machine in the same 
way as ‘Doctor’ is related to – 
(A) Hospital 
(B) Body 
(C) Disease 
(D) Medicine 

 83. bathfu;j dk lEcU/k e’khu ls gksrk gS] blh rjg 
MkWDVj dk lEcU/k ---------------------- ls gksrk gSA 
(A) vLirky 
(B) ‘kjhj 
(C) jksx 
(D) nok 
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84. Who said Kausani is a Switzerland of India ? 
(A) Ravindra Nath Tagore  
(B) Govind Ballabh Pant 
(C) Mahatma Gandhi 
(D) None of the above 

 84. dkSlkuh dks Hkkjr dk fLoVtjyS.M fdlus dgk \ 
(A) jfoUnz ukFk VSxksj 
(B) xksfoUn cYyHk iar 
(C) egkRek xka/kh 
(D) buesa ls dksbZ ugha 

85. If Monday falls on 3rd of a month. What day 
will fall 4 days after 21st in that month ? 
(A) Monday 
(B) Sunday 
(C) Tuesday 
(D) Wednesday 

 85. ;fn fdlh eghus dh rhu rkjh[k dks lkseokj gks rks 
ml eghus dh 21 rkjh[k ds pkj fnu ckn dkSu lk 
fnu iMs+xk \ 
 (A) lkseokj 
 (B) brokj 
 (C) eaxyokj 
 (D) cq/kokj 

86. Who among the following is known as 
‘Queen of Hills’ ? 
(A) Kausani 
(B) Nainital 
(C) Mussoorie 
(D) None of the above 

 86. ^igkM+ksa dh jkuh* fuEu essa ls dgk tkrk gS \ 
(A) dkSlkuh 
(B) uSuhrky 
(C) elwjh 
(D) buesa ls dksbZ ugha 

87. A landmarks of land surrounded by water is 
known as : 
(A) Coast 
(B) Island 
(C) Peninsula  
(D) None of the above 

 87. pkjks vksj ls ty ls f?kjk gqvk ^tehu dk VqdM+k* 
tkuk tkrk gS A 
(A) leqnzrV 
(B) }hi 
(C) isfuulqyk 
(D) buesa ls dksbZ ugha 

88. Which book is written by Haridutt Sharma ? 
(A) Badri Mahatya 
(B) Gangalahri 
(C) Kedarkhand 
(D) None of the above 

 88. gfjnRr ‘kekZ ds }kjk dkSu lh iqLrd fy[kh xbZ \ 
(A) cnjh ekgkR; 
(B) xaxkygjh 
(C) dsnkj[k.M 
(D) bueasa  ls dksbZ ugha 

89. Wular lake is located – 
(A) Rajasthan 
(B) Punjab 
(C) Himanchal Pradesh 
(D) Jammu & Kashmir 

 89. owyj >hy fLFkr gS & 
(A) jktLFkku 
(B) iatkc 
(C) fgekapy izns’k 
(D) tEew ,oa d’ehj 

90. Kalagarh dam is constructed on river – 
(A) Bhagirathi 
(B) Ramganga 
(C) Kosi 
(D) Saryu 

 90. dkykx<+ cka/k fdl unh ij cuk;k x;k gS \ 
(A) HkkxhjFkh 
(B) jkexaxk 
(C) dkslh 
(D) lj;w 

91. In Which of the following State Black soil is 
found ? 
(A) Gujrat 
(B) Rajasthan 
(C) Jharkhand 
(D) None of  the above 

 91. fuEufyf[kr esa ls fdl jkT; esa dkyh feV~Vh ik;h 
tkrh gS \ 
(A) xqtjkr 
(B) jktLFkku 
(C) >kj[k.M 
(D) buesa ls dksbZ ugha 
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92. Which of the following belongs to Parmar 
Dynasty ? 
(A) Mahipat Shah 
(B) Shyam Shah 
(C) Prithvipat shah 
(D) All of the above 

 92. fuEu essa ls dkSu lk ‘kkld ijekj oa’k ls lEcaf/kr gS \ 
(A) eghir ‘kkg 
(B) ‘;ke ‘kkg 
(C) iF̀ohir ‘kkg 
(D) mi;qZDr esa ls lHkh 

93. Which one is the smallest ocean ? 
(A) Hind Ocean 
(B) Atlantic Ocean 
(C) Arctic Ocean 
(D) Prasant Ocean 

 93. lcls NksVk egklkxj dkSu lk gS \ 
(A) fgUn egklkxj  
(B) vVykfVd egklkxj 
(C) vkdZfVd egklkxj 
(D) iz’kkar egklkxj 

94. The father of Green Revolution in India ? 
(A) B. L. Chopra 
(B) Amarita Patel 
(C) M. S. Swaminathan 
(D) None of the above 

 94. Hkkjr esa gfjr Økafr ds tUenkrk dkSu gS \ 
(A) ch- ,y- pksiM+k 
(B) vèrk iVsy  
(C) ,e- ,l- LokehukFku 
(D) buessa ls dksbZ ugha 

95. Which of the following has the longest 
coastline ? 
(A) Tamilnadu 
(B) Gujrat 
(C) Karnataka 
(D) Maharastra 

 95. fuEu esa ls fdldh lcls yEch rVjs[kk gS \ 
(A) rfeyukMw 
(B) xqtjkr 
(C) dukZVd 
(D) egkjk”Vª 

96. Which one of the following Union Terrilory 
of India has the smallest area ? 
(A) Chandigarh 
(B) Daman & Diu 
(C) Lakshadweep 
(D) Pondicherry  

 96. fuEu esa ls Hkkjr ds fdl dsUnz ‘kkflr izns’k dk lcls 
de {ks=Qy gS \ 
(A) p.Mhx<+ 
(B) neu ,oa nho 
(C) y{k}hi 
(D) ikf.Mpsjh 

97. The lines joining the points of equal depth are 
known as – 
(A) Isohalines 
(B) Isohytes 
(C) Isoclines 
(D) Isobaths 

 97. leku xgjkbZ dks tksM+us okyh js[kk;as dgykrh gSa & 
(A) vkblksgsykbu 
(B) vkblksgkbV~l 
(C) vkblksDykbUl 
(D) vkblksokFl  

98. What is the motto of National service scheme 
(NSS) ? 
(A) Unity and Discipline  
(B) Be Prepared  
(C) Not me but you 
(D) Sham No Varunah 

 98. jk”Vªh; lsok ;kstuk (NSS) dk vkn’kZ okD; D;k gS \ 
(A) ,drk vkSj vuq’kklu 
(B) rS;kj jgks 
(C) eSa ugha vki 
(D) ‘ka uks o:.k% 

99. ‘Munari’ is the folk dance of – 
(A) Orissa  
(B) Gujrat 
(C) Punjab 
(D) Bihar 

 99. ^equjh* ,d yksd ùR; gS & 
(A) mM+hlk 
(B) xqtjkr 
(C) iatkc 
(D) fcgkj 

100. Theosophical society was inspired by which 
religious Philosophy ?  
(A) Islam 
(B) Christianity 
(C) Hinduism and Buddhism 
(D)  None of these 

 100. fFk;kslksfQdy lkslkbVh fdl /kkfeZd n’kZu ls iszfjr Fkh\ 
(A) bLyke ls 
(B) bZlkbZ /keZ ls 
(C) fgUnw vkSj ckS} /keZ ls  
(D) buesa ls dksbZ ugha 

*****  
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Rough Work 
(jQ dk;Z) 


